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Draw ER diagram for Ternary Relationship set with suitable example.

Discuss about key constraints for Ternary Relationships.

OR
What is Data Abstraction? Explain about different views of data.

Define Instance and Schema. List different data models and explain.

What is a join operator? Explain about conditional join and natural join with syntax
and example.

a Explain in detail about nested queries. 
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b Explain about aggregate operators.
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Prove that a relation which is in 4NF must be in BCNF.
Deflne and explain 4NF with suitable example.

OR
Discuss about super key and candidate key in functional dependency

example.

What is meant by multivalued dependency? Explain with example.
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a Illustrate Tree indexes.

b Explain about ISAM.

Explain about RAID levels

OR
in detail with neat sketch.
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Explain Lock based conclrrrency control protocols.

OR
What is database Recovery? Explain Shadow paging in detail.
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